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97H No Block 77
3571 / 37H 1 Block 3571 / 27H
12070 / 774 2 Block 12071 7 674
071 7 07H 3 Block 171 7 07H
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BrE2SM 54 Vs s3INY 34
370 / 07H(00.0%) No Block 271 7 171(50.0%)
2770 7 570(18.5%) 1 Block 2471 7 571(20.8%)
8271 /7 327H(39.0%) 2 Block 947 / 397H(41.5%)
170 / 07H(00.0%) 3 Block -
*SAMNE /43 (838)
> MEQ 37 22
> PtREZ2EAL
E AE %53 AlZERE ol =42
MIET 2| 18(36.0%) 6(12.0%) 2(04.0%) 3(06.0%) 4(08.0%) 17(34.0%)
ME =2 35(55.6%) 10(15.9%) 5(07.9%) 2(03.2%) 1(01.6%) 10(15.9%)
oA 53(46.9%) 16(14.2%) 7(06.2%) 5(04.4%) 5(04.4%) 27(23.9%)
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MNEZ2| 43(59.7%) 14(19.4%) 4(05.6%) 1(01.4%) 0(00.0%) 10(13.9%)
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o oy 5% & | 274 | SME | #ME | oug | SE | an sug o
1 Sy 19 7 0 7 21 8 2.625 688 633 1.087 1Ms
2 IBKZ| 2% 12 4 2 6 14 " 1.273 547 532 1.028 25
3 GSZEIA 10 3 4 7 15 14 1.071 648 639 1.014 15
4 KGCOlt= A 7 2 4 6 10 13 0.769 500 525 0.952 14
5 A 5 2 4 6 8 14 0.571 483 513 0.942 41y
6 St =2 At 4 1 5 6 7 15 0.467 474 498 0.952 41y
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